N
81 7T ¢ —— IR R AIl'TAC

mE—BAE

O 1%

eRRDEE 0~9kgf/cm*(0~0.9MPa)
=15 —750mmHg(10Torr)

P / > y N
SN, Pl D) - RETED 1.5MPa
. 4 M K 4 EFRREEHE (C) 0-60
: ’ BRSNS [BERETPUE

PRES RE/RE

% / D ENRBAHEBERNERER
Vo'l W ER R AU
. W

M5

PT1/8
PL PT1/4
PT3/8

DERSFMHE ,F\’AT;’Z
1. BESERSRE, BIRATSERDAM: bLL s
2. FBEMAEER, TEERRERNCASECRE; PT3/8
3. RIGEBHSENEXRE, RRSEBRIRETEXME; Gl /2
4, BRSDBREHIE, MEAHREMBIRE, RIRRCE PT1/8

BEIBER; PLF PT1/4

5. ERNVEILHEROSR, EREBEEE. =

o0 el

000 00006 [w

PT1/8

D FTHEAS PCF E%jg

0 PT1/2
M5
MR FERNER PT1/8 L]

PT1/4 °
PL. LAUIRM 5@ 2B: P15 PMF PT3;8
e T. NPTH
PT1/2

G: GHF

PT1/8 °
o FEENE PH PT1/4
Bk |[BEEE PT3/8
PCF\PMF 0. W& 'F\’AT;/Z
e Eo X2 PTI/8 o
PCFPMF B, 2@ | |PHW Ewg
D: && 0. R

= = PT1/2
PCF. NIENER A8 R M5 °
PT1/8 °

- PHF PT1/4
B AR PT3/8

eEEN  [BREE0L M
M5: M5x0.8 ®4\D6 M5

01: PT1/8 . PT1/8
02: PT1/4 PEB PT1/4
03. PT3/g | 28\®10 PT3/8

0a. priz |02 PT1/2

PLL:

0000 000 00000 0000 000000000

zH: e

PLF.

PMF: RFZFIREE

PT1/8
o EEOMX PED PT1/4
4. ®4mm PT3/8
6: ®6MmmM PT1/2
8: ®8mm M5
10. ®10mm PT1/8
12. ®12mm PYB PT1/4
PT3/8
PT1/2

D N ER4EE

5% %ﬁ HE

PP EO |POM
g [iRe=
BEDIH | F5
ELE  [POM
S#05 |NBR
EN PBT
OFlE  |NBR
BREE |50

@m

O N[OOI |WIN|—
b




N
81 7T ¢ —— IR R AIl'TAC

mE—BAE
0 5hERAR A%

1 : 1
: | c €
P C - % f= DJ ol % { ’
Diﬂ_ 3 ey 9 ;
- htoty T i .
- [
om
@ r%ﬁ o M5EE =
< | < [ H
‘ R
HEE\HEE OD R OP A B C E H =) RIESE OD RC OP A B c E H
PLAM5 M5 x 0.8]9 3.5 |14.8 |14 |16.8 |8 3.1 PLF4AM5 M5 x 0.8 |9 6 6.1 |14 |16.8 |10
PL201 |4 [PT1/8 |9 76 |183 [14 |168 |10 |47 PLF401 |4 PTI/8 |9 8 209 [14  |16.8 |14
PL402 PT1/4 |9 70 |21.8 |14 [16.8 |14 [11.9 PLF402 PT1/4 |9 11 239 |14 |16.8 |17
PL6MB M5x0.8[125 |35 [17.0 |16.9 [202 |8  |4.4 PLF6MS5 M5x08[125 |6 183 [16.9 (202 |10
PL601 PT1/8 |12.5 |7.56 [205 |16.9 [20.2 |10 6.1 PLF601 PTi/8 [125 |8 231 (169 (202 |14
PL602 |6 |PT1/4 [12.5 |10 [24.0 [16.9 202 |14 [133 PLF602 |° PT1/4  [125 |11 261 169 (202 |17
PL603 PT3/8 [12.5 |11 |2565 [16.9 [20.2 |17 |20.6 PLF603 PT3/8 [125 |12 |27.1 |16.9 (202 |21
PL604 PT1/2 [125 |14 [30.0 [16.9 [20.2 |21 |359 PLF8O1 PTI/8  |14.7 |8 202 [18.6 [22.8 |14
PL8O1 PT1/8 |14.7 |76 [205 |18.6 [22.8 |10 |7.7 PLF802 PT1/4 147 |11 277 186 |22.8 |17
PL802 PT1/4 147 |10 [26.0 |18.6 [22.8 |14 [13.0 PLF803 |° PT3/8 147 |12 [28.7 |18.6 |22.8 |21
PL803 | [PT3/8 [14.7 |11  [265 |18.6 [22.8 17 |21.2 PLFB04 PT1/2 147 135 |30.2 |18.6 |22.8 |25
PL804 PT1/2 147 |14 |31 |18.6 [22.8 |21  |36.1 PLF1001 PT1/6 177 |8 241 (209 [25.7 |17
PL1001 PT1/8 [17.7 |7.5 [24.9 209 [25.7 |17 |16.6 PLF1002 PT1/4  [17.7 |11 267 (209 [25.7 |17
PL1002 PT1/4 [17.7 |10 [26.9 [20.9 [26.7 |17  |19.1 PLF1003 |'0  [PT3/e [17.7 |12 [30.1 209 [25.7 |21
pL1003 |'0 [PT3/8 [17.7 |11 [27.9 |209 (267 |17 |208 PLF1004 PT1/2 [17.7 135 |31.6 [209 257 |25
PL1004 PT1/2 177 |14 [32.4 [20.9 (267 |21 |37.2 PLF1202 PT1/4 |21 11 283 (227 285 |17
PL1201 PTi/8 |21 |75 [26.5 [22.7 [285 |17 |18.9 PLF1203 |12 |PT3/8 |21 12 [322 (227 (295 |21
PL1202 PT1/4 |21 |10 [28.5 [22.7 [285 |17 |21.5 PLF1204 PT1/2 |21 135 [33.2 [22.7 [295 |25
PL1203 |'2 [PT3/8 |21 11|33 |22.7 1295 |17 |25.56
PL1204 PT1/2 |21 |14 |34 [22.7 295 |21 |37.1
e
c |
| op !
d R || oi o ‘Jo_[l‘ i
oy 6 T |
\I = T
i (@)
‘ H o
[oe) | -
| \t JNE
]:}:[ y o M5 Re
e =,
‘ e R RIS OD  Rc oP A B c H
PCF4M5 M5 x 0.8/8.8 6 21 14 10
B\ oD R OP A B © E H PCF401 |4 PT1/8 [9.5 8 23 14 14
PLLAMS M5 x0.8 |9 365 [32.6 |14 |168 |8 PCF402 PT1/4 |95 K 26 124 17
PLLA0T |4 PTI/8 |9 76 [3659 |14 168 |10 PCF6MB M5x0811.8 |6 215 165 |12
PLL402 PT1/4 |9 10 389 [14 |68 |14 PCF601 PT1/8 [125 |8 255 165 |14
PLL6MS M5x08[125 |35 [348 [16.9 |202 |8 PCF602 |6 PT1/4 [12.5 |11 285 165 |17
PLL601 PT1/8 [125 |75 [381 |16.9 202 |10 PCF603 PT3/8 |13 2 205 [165 |21
PLL602 |° PT1/4 125 |10 411 [16.9 |202 |14 PCF604 PT1/2 |13 135 [31.0 [165 |25
PLL603 PT3/8 (125 |11 435 [169 202 [17 PCF801 PT1/8 138 |8 275 185 |14
PLL8O1 PT1/8 147 |75 |435 [18.6 |22.8 |10 PCF802 PT1/4 145 |11 305 185 |17
PLL802 |8 PT1/4 147 |10 |46.0 |18.6 |22.8 |14 PCF803 |° PT3/8 |14.5 |12 315 185 |21
PLL803 PT3/8 [147 |11 |485 |18.6 [22.8 |17 PCF804 PT1/2 |145 [135 |33 185 |25
PLL1001 PT1/8  [17.7 |75 |51.7 [209 [25.7 |15 PCF1001 PT1/8 168 |8 289 (209 |17
PLL1002 PT1/4 [17.7 |10 |54.7 |20.9 [25.7 |16 PCF1002 PT1/4 |16.8 |11 329 [209 |17
pLL1003 |'0  [PT3/8 [17.7 |11 554 (209 (257 |17 PCF1003 |10 PT3/8 |18 12 339  [209 |21
PLL1004 PT1/2 [17.7 |14  [59.9 [20.9 [25.7 |21 PCF1004 PT1/2 |18 135 [36.4 [209 |25
PLL1202 PT1/4 |21 10 |56.3 [22.7 [285 |15 PCF1202 PT1/4 208 |11 337 (227 |21
PLL1203 |12  |PT3/8_ |21 11 61 227 (295 |17 PCF1203 |12 PT3/8 [20.8 |12 3657 (227 |21
PLL1204 PT1/2 |21 14 |64 [22.7 295 |21 PCF1204 PT1/2 [20.8 [135 [37.2 |22.7 |25

A




—

% Bl JT 4 —— R iR $£ 58

AIl'TAC

mE—BAE

E
H C
OTIT i
il QJD_
i & ©
[an]
U M5
1 | o
« |
o R ﬂ?ﬁ
! R
RISE\GSE oD R oP A B c E H
PH4M5 M5x0.8 |9 35 [171 |14  |189 |8
PHA0 PT1/8 |9 76 248 |14 206 |11
PH6MS ME5x08[12.5 [3.6 171 165 [23.7 |8
PHB01 PT1/8 125 |7.6 |24.8 165 [23.1 |11
PHG02 |6 PT1/4 [12.5 |10 |28 |16.5 |25.0 |14
PH603 PT3/8 [12.5 |11 332 (165 [27.2 |19
PHBO1 PT1/8 147 |7.6 |24.8 186 [26.7 |11
PH802 PT1/4 147 |10 |28 |18.6 286 |14
PHB03 |8 PT3/8 147 |11 332 (186 [29.4 |19
PHB04 PT1/2 147 |14 |38.9 |18.6 |31.8 |24
PH1002 PT1/4 [17.7 |10 |28 207 |31 12
PH1003 |10 |PT3/8 [17.7 |11 332 (209 (331 |19
PH1004 PT1/2 177 |14  [38.9 209 355 |24
PH1203 PT3/8 |21 1 332 (227 (361 |19
PH1204 |'2  [PT1/2 |21 4 389 (227 (378 |24
H |
Re e
o (L]
[a) o
N E
L] o  M5H&
4 L - gz‘ﬁ
E f R
R
RISE\FSE ©D R Rc ©OP Al A2 B C E H
PHF4M5 M5x0.8|M5x0.8/9 [3.56 |6 |20 |14 |18.98
PHF401 PT1/8 |PT1/8 |9 |75 |8 29514 20612
PHF6MB M5x0.8]M5x0.8]12.5 3.6 |6 |20 |16.5(23.78
PHF601 PT1/8 |PT1/8 |12.5|7.56 |8 |29.5616.523.1]12
PHF602 |© [PT1/4 |PT1/4 [12.5[10 |11 |34.9|16.5|25.0 [17
PHF603 PT3/8 |PT3/8 |12.5[11 |12 |40 |[16.5|27.2 19
PHF801 PT1/8 |PT1/8 |14.7 |75 |8 |29.6|18.6|26.7 |12
PHF802 PT1/4 |PT1/4 |14.7 |10 |11 |34.9|18.6 |28.6 |17
PHF803 |8 [PT3/8 |PT3/8 |14.7 11 |12 |40 |18.6|29.4 |19
PHF804 PT1/2 |PT1/2 |14.7 14 |13.5 [47.4|18.6 |31.8 |24
PHF1002 PT1/4 |PT1/4 |17.7 |10 |11 [34.9|20.7 |31 |17
PHF1003 |10 |PT3/8 |PT3/8 |17.7 |11 |12 |40 |20.9|33.1 [19
PHF1004 PT1/2 |PT1/2 |17.7 |14 |13.5 [47.4 |20.9 |35.5 |24
PHF1203 PT3/8 |PT3/8 |21 |11 |12 |40 |22.7[36.1 |19
PHF1204 |'2 [PT1/2 |PT1/2 |21 |14 |13.5 [47.4 |22.7 |37.8 |24

§
! e 5 | Y,
' .
=% £y
[T o M
— L] e ~
‘ i ]
o
[ea) I
5
<
M
BEE\FE oD R oP A B C E L J H
PHW401 |4 PT1/8 |9 |7.5 |38.1 |14 |20.6 |14.6]13.2 |11
PHW601 PT1/8 [12.5|7.5 |38.1 16,56 [23.1 [16.2 [13.2 |11
PHW602 |6 PT1/4 |12.5|10 |43.6 |16.525.0 [17.4 [156.5 |14
PHW603 PT3/8 |12.5|11 [49.916.527.2 [19.8 |16.6 |19
PHWS01 PT1/8 |14.7 |7.5 |40.3 |18.6 |26.7 [16.3 [15.4 |11
PHW802 PT1/4 |14.7 |10 |43.6|18.6 |28.6 |18.5 |16.5 |14
PHWS803 |8 PT3/8 |14.7 |11 |49.918.6 |29.4 [19.8 |16.6 |19
PHW804 PT1/2 |14.7 14 |60.818.6 |31.8 |24.4 |21.8 |24
PHW1002 PT1/4 |17.7 |10 |46.620.7 |31 |20.0|18.5 |14
PHW100310  [PT3/8 |17.7 |11 |55.1 [20.9 [33.1 [21.2 [21.8 |19
PHW1004 PT1/2 |17.7 |14 [60.8|20.9|35.5 |25.0 |21.8 |24
PHW1203 PT3/8 |21 |11 |55.1(22.736.1 |22.8 |21.8 |19
PHW1204/'2  [PT1/2 |21 |14 |60.8 [22.7 |37.8 |26.4 |21.8 |24
2-E
2-C
o
| | (<
w &
o i
b [m)
(<]
o &
© M5 1%
1< T
iR
RISE\GSE oD R oP od A B C E F H
PEB4MS5 M5x0.8|9 [3.2 |3.5 |21 |14 |16.86.5 |9
PEB401 |4 PT1/8 |9 |32 |75 |25 |14 [16.86.5 |10
PEB402 PT1/4 |9 |32 (10 |28 |14 [16.8 (6.5 |14
PEBGMB M5x08[12.5(3.2 |35 |23.5[165[19.9(8 |12
PEB6O1 PT1/8 [12.5]3.2 |7.5 |27.56|16.5[19.9(8 |12
PEB602 |° PT1/4 |12.5|3.2 |10 |30.56165[19.9|8 |14
PEB603 PT3/8 [12.5(3.2 |11 |32 |165[19.9(8 |17
PEB801 PT1/8 |14.7 |43 |7.5 |30.618.6 |23 |95 |14
PEBB02 PT1/4 |14.7 |43 |10 [33.118.6 |23 |95 |14
PEBB03 |° PT3/8 |14.7 |43 |11 134.6 186 |23 9.5 |17
PEBB04 PT1/2 [14.7 |43 |14 |38.6 [18.6 |23 9.5 |21
PEB1001 PT1/8 |17.7 4.3 |7.5 |34.220.9 263 [11 |17
PEB1002 PT1/4 |17.7 |43 |10 |36.7 |20.9 [26.3 [11 |17
PEB1003 |0  [PT3/8 [17.7 (4.3 |11 [37.720.926.3 [11 |17
PEB1004 PT1/2 [17.7 4.3 |14 |41.7|20.9 263 [11 |21
PEB1202 PT1/4 |21 |43 |10 |41 |22.7 |29.8 13 |21
PEB1203 |12 |PT3/8 |21 |43 |11 |42 [22.7]29.813 |21
PEB1204 PT1/2 |21 |43 |14 |45 227 29.8 13 |21

A

B



—

% Bl JT 4 —— R iR $£ 58

mE—BAE

PYBZ3I PEDZ 7l
J
2-0P ==t
T A
e . Lu:i ‘ o
| |
| | |
sl ENE) VAR e
| 1 o
e r 1 H (<]
i 1T [ |
AVl RS S
od o od
@ M55 15
M5 &
H <(¢ | <
SIS 4 S :
R ] IEEAN:
RZES® oD R oP od A B C F J H RIS oD R oPp od A B C E F H
PYB4MS5 M5x0.8|9 [3.2 3.6 |35.3 14 |12.8 10 |9 PED4MS5 M5x0.8|9 [3.2 |3.6 |21 |14 |16.86.5 |9
PYB401 |4 PT1/8 |9 (3.2 |75 |39.3 14 [12.8[10 |10 PED401 |4 PT1/8 |9 (3.2 |75 |25 |14 [16.8(6.5 |10
PYB402 PT1/4 |9 (3.2 |10 42314 [12.8 10 |14 PED402 PT1/4 |9 (3.2 |10 |28 |14 |16.86.5 |14
PYBGMB MEx0.8[12.5 (3.2 |3.5 40516516512 |12 PED6M5 MEx08[12.5 (3.2 [3.5 |23.56|165[19.9(8 |12
PYB601 PT1/8 |12.5[3.2 |7.5 |44.5 16516512 |12 PED601 PT1/8 |12.5[3.2 |7.5 |27.5]|165[19.9(8 |12
PYB602 |° PT1/4 |12.5[3.2 |10 |47.5[16.5|165 12 |14 PED602 |° PT1/4 |12.5[3.2 |10 |30.5|16.5(19.9|8 |14
PYB603 PT3/8 [12.5[3.2 |11 [49.0 [16.5 165 [12 |17 PED603 PT3/8 [12.5[3.2 [11 |32 |165[19.9(8 |17
PYBB01 PT1/8 |14.7 3.2 |75 |50.2 [18.6 |17 |14.5]|14 PED801 PT1/8 |14.7 |43 |7.5 306 18.6 |23 |95 |14
PYBB02 PT1/4 |14.7 3.2 |10 |52.7 [18.6 |17 |14.5|14 PED802 PT1/4 |14.7 4.3 |10 |33.118.6 |23 |95 |14
PYB803 |° PT3/8 |14.7 3.2 |11 |64.2 18617 [14.5 |17 PED803 |° PT3/8 |14.7 |43 |11 |34.618.6 |23 |95 |17
PYB804 PT1/2 [14.7 3.2 |14 |58.2 [18.6 17 |14.56|21 PED804 PT1/2 [14.7 |43 |14 |38.618.6 |23 |9.5 |21
PYB1001 PT1/8 |17.7 |43 |75 |56.6 |20.9[19.3 18 |17 PED1001 PT1/8 |17.7 4.3 7.5 |34.220.9 263 [11 |17
PYB1002 PT1/4 |17.7 4.3 |10 [59.1 |20.9[19.3 [18 |17 PED1002 PT1/4 |17.7 4.3 [10 [36.720.9|26.3 11 |17
pYB1003 |'0 [PT3/8 [17.7]4.3 |11 [60.1 [20.9 [19.3 |18 |17 PED1003|'0  [PT3/8 [17.714.3 [11 [37.720.9(26.3 [11 |17
PYB1004 PT1/2 [17.7 |43 |14 |64.1 [20.9 [19.3 |18 |21 PED1004 PT1/2 [17.7 |43 |14 |41.7|20.9 263 |11 |21
PYB1202 PT1/4 |21 |43 |10 658 |22.7 |21 |20.5 |21 PED1202 PT1/4 |21 |43 |10 |41 |22.729.8[13 |21
PYB1203 |12  |PT3/8 |21 |43 |11 |66.8 [22.7 |21 |20.5 |21 PED1203 |12  |PT3/8 |21 |43 |11 |42 |22.7 [29.8 13 |21
PYB1204 PT1/2 |21 |43 |14 69.8 |22.7 |21 |20.5 |21 PED1204 PT1/2 |21 |43 |14 |45 |22.7 [29.8[13 |21
PMFZ 3|

RISE\FS% OD Rc oP A N E G M H
PMF401 |, PT1/8 |16 |8 [11.9]25 |4.1 |4 |M12x1]14
PMF402 PT1/4 |16 |11 [11.9]29 |41 |4 [M12x1[17
PMF601 PT1/8 |19 |8 [12.5|255|5 |4 |M14x1[17
PMF602 |6 PT1/4 |19 |11 [12.5|30.5|5 |4 |[M14x1[17
PMF603 PT3/8 |19 |12 [12.5|31.5|56 |4 |M14x1[21
PMF801 PT1/8 |22 |8 [14.4|27.5|4.6 |5 |M16x1]19
PMF802 PT1/4 |22 |11 [14.4(32 |46 |5 |M16x1]19
PMF803 |8 PT3/8 |22 |12 [14.4(33 |4.6 |5 |M16x1|2]1
PMF804 PT1/2 |22 |13.5 [14.4 345 4.6 |5 |M16x1|25
PMF1001 PT1/8 |26 |8 [14.4(29.9|7.5 |5 |M20x1|22
PMF1002 PT1/4 |26 |11 [14.4|34.9 7.5 |5 |M20x1|22
PMF1003|'0  [PT3/8 (26 |12 |14.4(36.9 7.6 |5 |[M20x 1|22
PMF1004 PT1/2 |26 |13.6 [14.4|37.4 7.5 |5 |M20x1|25
PMF1202 PT1/4 |28 |11 |16.5|34.7 8.2 |6 |M22x1|24
PMF1203|12  |PT3/8 |28 |12 |15.5(37.7 8.2 |6 |M22x 1|24
PMF1204 PT1/2 |28 |13.5 [16.5|39.2 8.2 |6 |M22x1|25




